1. A What is Dynamic Programming? Compute the transitive closure of the graph given below using
Warshall’s Algorithm
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2. A) Solve the following instance of Knapsack problem using Dynamic Programming. Knapsack

capacity is 5.
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2. B) Write the algorithm for Knapsack problem with Dynamic Programming
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3) Solve and obtain the optimal Binary Search Tree from data given below for four keys

Key A B C D
Probability 0.1 0.2 0.4 0.3
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4. A Explain the concept of Backtracking and Branch and Bound
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4. B What is N-Queen’s Problem? lllustrate 4-Queens problem using Backtracking and obtain the
solution.
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5. A Solve subset sum problem for the following example S= {3, 5, 6, 7} and d=15. Construct a state
space tree.
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5. B Write algorithm for Graph Coloring problem
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6. Solve and find the shortest path between each pair of vertices for the graph given below. Write the
algorithm for Floyd’s.
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7. Solve the job assignment problem for the following and obtain the optimal solution
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